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Beamwidth Pattern @ 27.5, 28.8, 40 GHz
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Beamwidth Pattern 33 GHz
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Beamwidth Pattern 35.75 GHz

—— dB(GainTotal)
Setup2 : Sweep
Freq="35.75GHz' Phi=0deg’

g2

—— dB(GainTotal)
Setup2 : Sweep
Freq=35.75GHz' Phi=90deq"

3899973 —
1| MName X [deq] Y
[ mi 0.0000 |346203
10 ) m2 40000 |20.0907
1] m3 1.1507 | 31.6674
1 me -4.0000 |19.5299
T T T T T
20
£ 10
° ,
= _
jod
g 4
s3] E ’l'
p=l
D 7] 1
] !
i \ I',
-10 —
-20
1585540 T T T T T
-183.28371 150

-100

Theta [deg]

T
150 187.3179:



Beamwidth Pattern 38.5 GHz
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